
AC Circuit Application (1)

In this RLC circuit, the voltage amplitude is Emax = 100V.

Find the impedance Z, the current amplitude Imax,
and the voltage amplitudes VR, VC , VL, VLC

(a) for angular frequency is ω = 1000rad/s,

(b) for angular frequency is ω = 500rad/s.
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AC Circuit Application (2)

In this RLC circuit, we know the voltage amplitudes VR, VC , VL across each device, the
current amplitude Imax = 5A, and the angular frequency ω = 2rad/s.

• Find the device properties R, C, L and the voltage amplitude Emax of the ac source.
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